AP Calculus AB						Name__________________________________
Chapter 7 Test Practice (with review)			Date _________________________________

[bookmark: _GoBack]Evaluate the following integrals.
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3.			4.	
















5.				6.	
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7.	Consider the differential equation  Let y = f(x) be the particular solution to this differential equation with the initial condition f(-1) = 2.


[image: ]a) 	On the axis below, sketch a slope field for the given differential equation at the points indicated.  Sketch the particular solution for 













b) 	Find the solution y = f(x) to the given differential equation with the initial condition 
f(-1) = 1.


















8.	Find 
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10.  2016 AP Exam – No Calculator
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image11.png
Ata certain height, a tree trunk has a circular cross section. The radius R(r) of that cross section grows at
a rate modeled by the function
drR
ar
for 0.1 <3, where time ¢ is measured in years. At time ¢ = 0, the radius s 6 centimeters. The area of
the cross section at time 1 is denoted by A(r).

5(3:+sin(1)) centimeters pr year

(a) Wite an expression, involving an integral, for the radius R() for 0 < 7 < 3. Use your expression to
find R(3).

(b) Find the rate at which the cross-sectional area A(r) is increasing at time ¢ = 3 years. Indicate units
of measure.

(¢) Evaluate j:,((:) dt. Using appropriate units, interpret the meaning of that integral in terms of cross-
sectional area.
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4. Consider the differential equation Ey = (=21

(a) Find y = g(x). the particular solution to the given differential equation with initial condition g(0) = 5.
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(b) Forthe particular solution y = g(x) found in part (a), find lim g(x).
et
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(c) Let y = f(x) be the particular solution to the given differential equation with initial condition f(1) = 3.
. dy .
Find the value of <5 at te point (1, 3. Is the graph of y = £ (x) concave up or concave down t the

point (1, 3) ? Give a reason for your answer.
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Scoring Guidelines for Free-Response Question 4

Question 4
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Because y(0) =5, y> 2, s0|y-2|=y-2
5

y-2=3"
2

y=2+365

Note: this solution is valid for all real numbers.

2.,
®) Xl.;mﬂ[2+32’ ]:2

©

-(3-2)(F+1)=2

#
Flas

p

¥ = f(x) is concave up at the point (1, 3)

1+ separation of variables
2 antiderivatives
5:{ 1: constant of integration
‘and uses initial condition
1+ solves for

Note: max 3/5 [1-2-0-0] if no constant
of integration

Note: 0/5 if no separation of variables

1:answer
2
2: 54
3 oy
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